ECE 301

Fall Semester, 2002

HW Set #5

Due: October 8, 2002 
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          Print (last,  first)
All the problems on this set are to be submitted for grading.  Use engineering paper.  Work only on one side of the paper.  Use this sheet as your cover sheet, placed on top of your work and stapled in the top left-hand corner.  Number the problems at the top of the page, in the center of the sheet.  Do neat work.  Underline your answers.  Show how you got your equations.  Each problem counts 10 points.  Be sure to show how you got your answers. 

From the text:

4.57   answers:  i1(t) = 3.8cos(1500t+46.5o)  mA,     i2(t) = 19.6cos(1500t – 83.2o)   mA

4.45 I1 =  8.94(-49.1  A

4.58   v1(t) = 565.69cos(100t-45) V,     v2(t) = 282.8cos(100t+45) V

5.1 Find the frequency domain impedance, Z, for the network shown below. 

Answer:  Z = 15.65(-26.6 ohms
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5.2 Find the phasor current Io in the circuit below.
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5.3 You are given the circuit below.
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(a)  Find the currents I1 and I2.    Answers:  I1 = 7.31(57.3 A,  I2 = 6.386(72 A

(b) Find the Thevenin equivalent voltage and Thevenin equivalent impedance 

Looking to the left of terminals a – b.  Answers:  Vth = 12.8(72 V, Zth = 1.414(-45 (
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